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SL.No. Total No. of Pages : 7
VI Semester B.Com. Examination, September 2020
(Scheme : MSS - RS 13-14)

(Freshers of May/June 2016 and onwards)
COMMERCE
Quantitative Techniques

Time : 3 Hours Max. Marks : 80

Instruction: Use Graph wherever necessary.
OTGIGd FEDTY, WA

R -

Answer any four questions. Each question carries 10 marks.
OIPFTTETR ToLy, TJROR KwIdr. T3 TIFRe 10 ©OsAY.

—

Q1) If U={0, 3, 4,5, 9, 8, 7, 1, 11} A={L, 5, 8, 7}, B={3, 8, 11, 4} and=H&)
C={7, 1, 8, 0} find FoR&HBWD.

(@ A'NB (b) A'UB () A'uB'UC

(d) (AnBNC) € A-(BNC)

Q2) Solve by Cramer’s Rule
BeDTI® FODITIRY, SLTOIReNY DR
4x -8y +6z=2

2x+2y+2z=4
2x-2y+2z=8

PTO.
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(3) How many three digit numbers can be formed from the digits 1, 2, 3, 4, 5 and
6 without Repeating any digit? Also find

a)
b)
c)
d)

" How many of them are odd numbers

How many of them are less than 400
How many of them are more than 300

How many of them are exactly divisible by ‘4’?

1, 2, 3, 4,5 B, 6 200 LOINVLOT JaRTD woﬁﬁﬁo% aw R‘Ioudmfa‘b
TRBLBTONS? od:a@de ©o30d ioaicadés-‘éo:bar{w wwsacbq;ao
23031

a)
b)
c)
d)

FRNYY oT) B3 BoBEINDIB?

FYRNGY ST, 400 03 BB QWIB?

FPY oI, 300 303 Y ADII?

ARINGY AR JoWTNWD ‘4” 00T JRSFOIPN LRNZITHIES.

Q4) Solve Graphically,
Maximise Z =250x+300y

Subject to 3x+ 2y <240

2x+3y <210
x20, y=20

dgoi)abut euTodeeAl DAL,

Z =250x+300y nogreon

QWOPN  3x+2y <240

2x+3y<210
xz0, y=20
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05) Two dice are rolled at a time. Write a sample space and find the probability

that
a)
b)
c)
d)
e)

“The total on the dice is more than seven

The total on the dice is equal to six
Two dice show even numbers.
The total on the dice is multiple of ‘4’

The total on the dice is divisible by ‘3’

0T wr{dmﬁm‘l TIPTTOONBY. LOT méoﬁv’ ﬁwﬁm& WO

RoZI@eoHIONTY FOEHLBOND.

a) .wmﬁm}ga 23 B3 7" $03 Bepmen

b) INBRYAS i) B3 ‘6" § FIoTweN

c) «0RR INBRD FDBOBODI, S0eOWIH.
d) InBRPYS B ‘4’ 00T MOFOTTWTN
e) TNBENYYS 'mg ‘3’ 00T LOrPTITIOWRN

06) Out of 8000 students 4000 take part in fine arts, 2500 participate in games and
3000 take part in social service activities. The number of students take part in
fine arts and games is 1000, games and social service is 900 and social service

_ and fine arts is 800. There are 400 students participate in all the three activities

find

a)
b)

The number of students who do not participate in any of the three activities
The number of students participate in only one activity show by Venn
diagram
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2D, 8000 c‘.ﬁméf;)?fw‘g 4000 @mé@Fﬁ'ub ©d3Fs, 2500 &)méﬁ)rﬂ%b
SLNYY D) 3000 ITBFTIth XTI Resdod@ 3earbees. ¢l 1000
DTRHF N 093 3 DY sundY, 900 JTBFRD SUNYY DB
RR50zs BeSoD D) 800 DTRPFTIH I Kok D) 003 gSoHOI
Tone 400 JPFNH RITYoD PONTLRTVE ), DTRHF N

a) CIRRYTOYCHH ZRNRELWPHOR?

b) o, améarmﬁa 20T BeBEIFODY BRI FNELRBE? aomcsaql
“3IS* aﬁgoda” TNL0IT FORLBOWD.

R - 2

Answer any four questions. Each question carries 5 marks.
O3RFYTRETR Ty TFAPR ¢wZdr. Td JJe 5 WOBR.

Q7) A bagcontains 8 Red 10 white and 7 Green balls. 3 balls are drawn at random

one after the other without replacement. What is the probability of drawing
the balls in the order of Red, white and Green?

2oTD Weon 8 B0, 10 29 DY) 7 T BorRnid *WMIB. IR
BoER), THR: Wewd BedxW 3 oy I wonod IroberrdId.

SoR 3RT Bodnsd gmmn OO 1P abs_a’ BATY SR BOFRIICODS
PAWD '

WO duIfuowon” mmm//:sdny

08) IfA={2,3} B={4,5} C={5,6}find
a) Ax(BuC)
b) Ax(BnC)

¢) (AxB)u(BxC) gom&@ono.
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2 4 3 8
9) If A= B= find 0@&%2020
29 [5 6:| [4 3} n

2) ABand &

b) BA

Q10)A person has got 5 friends. In how many ways can he invite one or more of
his friends to dinner?

22) 33N 5 w3 FeLI0mT. UT0Q Ly VT B JeLITW, g
O WROHY FBCHWEDTH?

3 1
QINIf A =[ I 2} 4T3 prove that A% —=5A + 71 =0 Q0td 300K,

Q12)A box contains 100 Transistors, 20 of which are defective 5 are selected for
inspection Indicate what is the probability that

1) One is defective

2) Atmost 2 are defective

100 ERRTTRUIRIRR0B 2,00 Beyiodd 20 LRRXFOND 8630 BreNADHIHY,
5 R ONYI, Jodewdon PoNBROB3 BIJINYY

) o mmmosmn@

2) nog 2 BeeSBedIHeNGS Kogmdeodhd QF?
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>N ~ 3

Answer any ten questions. Each question carries 2 marks. .
CIRRTOTTR BB, TJAYR wvZor. I TZR 2 wornsd.

Q13)a)

b)

d)

g)

h)

State distributive Law?
@&éméwas‘ ‘c’ihc>:babr1%=&'\":o¢l 30N,

State the objectives of Linear programming,.
DeQCHT’ TODF BT OZ BRI, 3927

Write a note on Binomial distribution?
aﬁdmmojao‘ DITHOD w@ 3368 LBoND?

What is random experiment?
“aﬂéaiﬁa,éasegd Tdeen QOWBER?

What is circular permutation?
&,Bo800 BB HOBTER?

What do you mean by square matrix? Give Example?
04Dl Dot m'o:éeﬁ QROTBEeRN9 LLTRBOE 8AY

What do you mean by sample space?
BTO MGRIE FOZ0Z QOTTER?

Find the no of arrangement of letter of the word “COMMERCE”.

“COMMERCE” I03Q ©3ondd), o Opneg ReeBIuzmomd
OB ROND.
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)

i)

k)

Write all the subsets of {7, 8, 9} 8 ¢VTREFNII, 2BoW0.

57|

Evaluate a@ef}éesam ) 3

Find "2C,+C, o, 30@b&R0ND.

In how many ways 3 ladies can be selected out of a group of 10 ladies .

10 &3 SHLOHT MHOATY 3 &8 DLICDT), ST, HFINTY B0l
BRBLTWD. |

5x+2 4_124
Ifloy_1 37| 7 3

@38 find x and y
x aHP) y OB SRBOWD.

If P={a, b, c, e} Q= {c, d, e, f} 8TT represent this by Venn diagram
B FoDY TR, TS IR,

2 3 4
IfP(A) = 3 P(B) =3 and P(AUB)=“5“,

&3 find P(A NB)30@&B000.

38 TOW
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